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1. Today, if you open any dental magazine, you 
will read about CAD/CAM products.    

a. True 
b. False 

 
2. CAD/CAM products can be scanners, 
software applications, machines, and even 
outsourcing services. 

a. True 
b. False 

 
3. One thing that ads and articles have in 
common when talking about CAD/CAM is they 
don’t talk about units of measurement.     

a. True 
b. False 

 
4. When talking about precision, they will use a 
unit of measurement that you have heard of: 
the micron (fflm).    

a. True 
b. False 

 
 
 
 
 
 

5. According to a study that Dr. Brenamark did in 
1983, a tolerance of +/- 15fflm can be considered a 
passive fit.     

a. True  
            b.   False  

 
6. Even when you have a very precise scanner, 
there are many key points to keep in mind that will 
affect the precision of your scanner.  

a. True 
b. False 

 
7. Manufacturers came up with the idea of creating 
scan bodies because none of the scanners 
available in the industry can scan the actual 
implant.       

a. True 
b. False 

 
8. Your scan bodies need to fit on the actual 
implant analogs.   

a. True 
b. False 

 
9. In today’s industry, 3 software applications are 
most widely used. There are other options. In this 
domain, precision will be affected by the software 
you use.     

a. True 
b. False 

 
10. Precision is not just a matter of the numbers. It 
is a complex concept affected by the equipment 
you use and the way you use it.   

a. True 
b. False 

 


